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QUESTION 1

What happens to the status of users already logged into ESXi Shell when a vSphere administrator enables lockdown
mode? 

A. Users remain logged in and can run commands, except to disable lockdown mode. 

B. Users remain logged in and can run commands, including disabling lockdown mode. 

C. Users are immediately logged out of ESXi Shell. 

D. Users are logged out after a timeout specified by the vSphere administrator. 

Correct Answer: A 

 

 

QUESTION 2

Which two network settings are available on a vSphere Standard Switch? (Choose two.) 

A. Ingress traffic shaping 

B. Egress traffic shaping 

C. Private Virtual Local Area Networks (PVLAN) 

D. Virtual Local Area Networks (VLAN) 

Correct Answer: BD 

 

QUESTION 3

Which two CPU features enable the use of 64-bit virtual machines? (Choose two.) 

A. Intel VT 

B. NX/XD Bit 

C. Hyper-threading 

D. AMD RVI 

Correct Answer: AD 

 

QUESTION 4

-- Exhibit -
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-- Exhibit -What is indicated by the performance chart shown? 

A. Guest memory is overcommitted. 

B. Host memory is overcommitted. 

C. Host is I/O constrained. 

D. Guest is I/O constrained. 

Correct Answer: B 

 

QUESTION 5

An administrator determines that when a host residing in a High Availability (HA) cluster fails, the virtual machines fail to
restart on a remaining host, or will only restart after a long delay. Which two conditions would account for this behavior?
(Choose two.) 

A. The virtual machines were not protected by vSphere HA at the time the failure occurred. 

B. Distributed Resource Scheduler was not enabled at the time the failure occurred. 

C. There is insufficient spare capacity on hosts with which the virtual machines are compatible. 

D. The virtual machines contain physical Raw Device Mappings. 

Correct Answer: AC 
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